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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ-nÌ na Zm_m§H$ A{Zdm ©̀V… {bI| &

Candidate must write first his / her Roll No. on the question paper compulsorily.

2) g^rg^rg^rg^rg^r àíZ H$aZo A{Zdm ©̀ h¢ &

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &

Write the answer to each question in the given answer-book only.
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4) {OZ àíZm| _| AmÝV[aH$ IÊS> h¢, CZ g^r Ho$ CÎma EH$ gmW hr {bI| &

For questions having more than one part, the answers to those parts are to be written
together in continuity.

5) àíZ-nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVaU _| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr
^mfm Ho$ àíZ H$mo ghr _mZ| &

If there is any error / difference / contradiction in Hindi & English versions of the question
paper, the question of Hindi version should be treated valid.

6) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$_m§H$ Adí` {bI| &

Write down the serial number of the question before attempting it.

7) àíZ H«$_m§H$ 19 Am¡a 20 _mZ{MÌ H$m`© go g§~§{YV h¢ & àË`oH$ àíZ 2 A§H$ H$m h¡ &

Question No. 19 and 20 are related to map-work carrying 2 marks each.

8) {díd Ed§ ^maV Ho$ CnbãY H$amE JE aoIm-_mZ{MÌm| H$mo CÎma-nwpñVH$m Ho$ gmW ZËWr H$a| &

Attach the given outline maps of World and India with the answer-book.
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IÊS> - AIÊS> - AIÊS> - AIÊS> - AIÊS> - A

SECTION - A

1) dñVw {Zï> àíZ :

Multiple Choice Questions :

i) ‘mZd {dH$mg à{VdoXZ 2020 Ho$ AZwgma A{V Cƒ dJ© ‘| gpå‘{bV Xoem| H$s g§»¶m h¡ & [½]

(A) 66 (~) 53

(g) 37 (X) 33

According to the Human Development Report 2020, the Number of countries
included in the very high category is -

(A) 66 (B) 53

(C) 37 (D) 33

ii) Am{XH$mbrZ {Zdm©h H¥${f H$mo ‘¡p³gH$mo ‘| H$hVo h¢ & [½]

(A) Pwq‘J (~) bXm§J

(g) {‘ënm (X) H$mobIhmoO

Primitive subsistence agriculture is called in Mexico-

(A) Jhuming (B) Ladang

(C) Milpa (D) Kolkhoz

iii) A§Jya, A§Ora d O¡VyZ H$m CËnmXZ {H$¶m OmVm h¡ & [½]

(A) dm{UÁ¶ AZmO H¥${f joÌ ‘| (~) ŷ‘Ü¶gmJar¶ H¥${f joÌ ‘|

(g) S>oar H¥${f joÌ ‘| (X) {‘{lV H¥${f joÌ ‘|

Grapes, Figs and Olives are produced in -

(A) Areas of commercial grain cultivation

(B) Areas of mediterranean agriculture

(C) Areas of dairy farming

(D) Areas of mixed farming
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iv) J¡a-gaH$mar g§JR>Z A§J h¡- [½]

(A) ì¶mnma H$m (~) n[adhZ H$m

(g) godm H$m (X) g§Mma H$m
Non Government Organisation is part of -
(A) Trade (B) Transport
(C) Service (D) Communication

v) Zr{V {ZYm©aH$ A§J h¡ - [½]

(A) {ÛVr¶H$ {H«$¶mH$bmn H$m (~) V¥Vr¶H$ {H«$¶mH$bmn H$m

(g) MVwW©H$ {H«$¶mH$bmn H$m (X) n§M‘ {H«$¶mH$bmn H$m
Policy formulators are the parts of -
(A) Secondary activities (B) Tertiary activities
(C) Quaternary activities (D) Quinary activities

vi) g§K Am¡a àemÝV aob‘mJ© {ZåZ Xmo ZJam| H$mo Amng ‘| OmoS>Vm h¡- [½]

(A) g|Q> nrQ>g©~J© H$mo ìbm{S>dmoñQ>H$ go (~) Ý¶y¶mH©$ H$mo gmZ \«$m§{gñH$m| go

(g) nW© H$mo {gS>Zr go (X) no[ag H$mo BñVm§~yb go
The Union and Pacific Railway connects the following two cities-
(A) St. Petersburg to Vladivostok (B) New York to San Francisco
(C) Perth to Sydney (D) Paris to Istanbul

vii) AmñQ´>o{b¶mB© nma _hmÛrnr¶ aob‘mJ© {ZåZ Xmo ZJam| H$mo Amng ‘| Omo‹S>Vm h¡- [½]

(A) no[ag H$mo BñVm§~yb  go (~) Ý¶y¶mH©$ H$mo gmZ \«$m§{gñH$m| go

(g) nW© H$mo {gS>Zr go (X) g|oQ> nrQ>g©~J© H$mo ìbm{S>dmoñQ>H$ go
The Australian Trans - Continental Railway connects the following two cities-
(A) Paris to Istanbul (B) New York to San Francisco
(C) Perth to Sydney (D) St. Petersburg to Vladivostok

viii) {díd ì¶mnma g§JR>Z H$s ñWmnZm H$~ hþB©? [½]

(A) OZdar 1995 (~) OZdar 1996
(g) OZdar 1997 (X) OZdar 1998
When was the World Trade Organization established?
(A) January 1995 (B) January 1996
(C) January 1997 (D) January 1998
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ix) {H$g Xoe Ho$ H$mbrZ à{gÕ h¡? [½]

(A) MrZ (~) BS>moZo{e¶m

(g) B©amZ (X) ’«§$mg

Which country's carpets are famous?

(A) China (B) Indonesia

(C) Iran (D) France

x) OZJUZm df© 1991 _| ^maV ‘| XeH$s¶ d¥{Õ Xa Wr - [½]

(A) 17.64% (~) 11.60%

(g) 21.54% (X) 23.85%

The decadal growth rate in India in the census year 1991 was -

(A) 17.64% (B) 11.60%

(C) 21.54% (D) 23.85%

xi) AmYw{ZH$ ^maV Ho$ g§X ©̂ ‘| dÎm©‘mZ ‘| {H$VZr ^mfmE§ AZwgy{MV h¢? [½]

(A) 15 (~) 20

(g) 22 (X) 25

At present how many languages are scheduled in the context of modern India?

(A) 15 (B) 20

(C) 22 (D) 25

xii) _y§J’$br, gagm| Ed§ gmo¶m~rZ ^maV H$s ‘hËdnyU© ’$gb h¢? [½]

(A) {VbhZ ’$gb (~) AZmO ’$gb

(g) Xmb| (X) aoeoXma ’$gb

Groundnut, mustard and soyabean are important crops of India.

(A) Oilseeds crops (B) Cereals crops

(C) Pulses (D) Fibre crops
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xiii) Am¡g, A‘Z Am¡a ~moamo gå~pÝYV h¡ - [½]

(A) JÝZm go (~) Mm¶ go

(g) Johÿ± go (X) Mmdb go

Aus, aman and boro are related with -

(A) Sugarcane (B) Tea

(C) Wheat (D) Rice

xiv) nyd© - npíM‘ J{b¶mam {ZåZ eham| H$mo Omo‹S>Vm h¡ - [½]

(A) nmoa~§Xa H$mo lrZJa go (~) {gbMa H$mo nmoa~§Xa go

(g) lrZJa H$mo H$Ý¶mHw$‘mar go (X) H$Ý¶mHw$‘mar H$mo {gbMa go

The East - West Corridor connects the following cities -

(A) Porbandar to Srinagar (B) Silchar to Porbandar

(C) Srinagar to Kanyakumari (D) Kanyakumari to Silchar

xv) {ZåZ ‘| go ^maV Ho$ npíM‘r VQ> na pñWV g‘wÐr nÎmZ h¡ - [½]

(A) hpëX¶m (~) VyVrH$mo[aZ

(g) nmamXrn (X) ‘m‘m©JmAmo

Which of the following is a sea port situated on the west coast of India.

(A) Haldia (B) Tuticorin

(C) Paradwip (D) Marmagao

xvi) {ZåZ ‘| go A§Vam©ï´>r¶ hdmB©nÎmZ h¡? [½]

(A) OmoYnwa (~) O¶nwa

(g) CX¶nwa (X) H$mZnwa

Which of the following is an international airport?

(A) Jodhpur (B) Jaipur

(C) Udaipur (D) Kanpur



7

SS–14–Geog. 6010 [ Turn Over

2) [aŠV ñWmZm| H$s ny{V© H$s{OE -

Fill in the blanks -

i) gm‘m{OH$ Am¡a gm§ñH¥${VH$ {dH$mg Ho$ gmW ‘mZd ~ohVa Am¡a A{YH$ ........ H$m {dH$mg H$aVo h¢ &[½]

With social and cultural development, humans develop better and more _____.

ii) ........... Ho$ AZwgma ñdV§ÌVm ‘| d¥{Õ ^r {dH$mg bmZo dmbm gdm©{YH$ à^mdembr _mÜ`_ h¡ & [½]

According to _______, increase in freedom is also the most effective means
of bringing about development.

iii) {dñV¥V dm{UÁ¶ AZmO H¥${f joÌ A‘o[aH$m Ho$ ............... ‘¡XmZ joÌ ‘| AdpñWV h¡ & [½]

The extensive commercial grain agriculture area of United States America is
located in _____ plains.

iv) ’w$Q>H$a ì¶mnma ‘| d¥hV ñVa na g~go nhbo ZdmMma bmZo dmbo Cn^moŠVm .... g‘wXm¶ W| & [½]

Consumer _____ were the first of the large - scale innovations in retailing.

v) ............... g§¶w³V amÁ¶ A‘o[aH$m H$s EH$ à{gÕ nmBnbmBZ h¡ & [½]

_____ is a famous pipeline in the United States of America.

vi) Xmg ì¶mnma H$mo 1792 ‘| ......... ‘| g‘mßV H$a {X¶m J¶m Wm & [½]

The slave trade was abolished in ______ in 1792.

vii) ......... dh ì¶{³V h¡ Omo EH$ df© ‘| H$‘ go H$‘ 183 {XZ (¶m N>:> ‘{hZo) H$m‘ H$aVm h¡ & [½]

_____ is a person who works for atlest 183 days (or six months) in a year.

viii) ê$‹S>H$s EH$ ......... ZJa h¡ & [½]

Roorkee is an _____ town.

ix) Ob H«§$m{V A{^¶mZ ^maV gaH$ma Ûmam .............. ‘| Amaå^ {H$¶m J¶m & [½]

The Jal Kranti Abhiyan launched by the Government of India in _____

x) ^maV ‘| bJ^J EH$-Mm¡WmB© g§Mmar amoJ ............. O{ZV hmoVo h¡§ & [½]

About one - fourth of the communicable diseases in India are ______ borne.
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3) A{V bKwÎmamË_H$ àíZ -
Very Short answer types questions.
i) EbZ gr. g|nb Ho$ AZwgma ‘mZd ŷJmob H$s n[a^mfm Xr{OE & [1]

Define human geography according to Ellen C. Semple.
ii) CƒVa OrdZ - àË¶mem H$m ³¶m AW© h¡ & [1]

What does higher life expectancy means?
iii) ì¶mnm[aH$ Ho$ÝÐ ³¶m hmoVo h¡§? [1]

What are trading centres?
iv) ñdoO Zha {H$Z Xmo gmJam| H$mo Omo‹S>Vr h¢ ? [1]

Which two seas are connected by The Suez Canal?
v) Zrê$ - ‘rê$ H$m¶©H«$‘ {H$g amÁ¶ ‘| g§Mm{bV h¡? [1]

Neeru Meeru program is operated in which state?
vi) ~‹S>r aob bmBZ ‘|o Xmo nQ>[a¶m| Ho$ ~rM H$s Xÿar {H$VZr hmoVr h¡§? [1]

What is the distance between rails in broad gauge.
vii) ŷ-àXÿfU Ho$ H$moB© Xmo òmoVm| Ho$ Zm‘ {b{IE & [½+½=1]

Write the names of any two sources of land pollution.

IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~

SECTION - B

bKwÎmamË_H$ àíZ -
Short Answer Type Questions -
4) gm‘m{OH$ ŷJmob Ho$ VrZ CnjoÌm| Ho$ Zm‘ {b{IE & [½ + ½ + ½ = 1½]

Write the names of three sub-fields of social geography.

5) F$Vw àdmg {H$go H$hVo h¡§? EH$ CXmhaU Xr{OE & [¾ + ¾ = 1½]
What is transhumance? Give an example.

6) ZJar¶ ~mµOma H|$Ðmo H$mo g§jon _| g‘PmBE & [1½]
Brifely explain urban marketing centres.

7) d¥hX Prb| g|Q> bma|g g‘wÐr‘mJ© na g§{jßV {Q>ßnUr {b{IE & [1½]

Write a short note on The Great Lakes - St. Lawrence Seaway.
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8) ì¶mnma g§VwbZ go Amn ³¶m g‘PVo h¡§? [1½]

What do you understand by balance of trade?

9) ¶{X AmnH$mo Zr{V {ZYm©aH$ ~Zm¶m OmE Vmo amï´>r¶ ¶wdm Zr{V ‘| {H$Z VËdm| H$mo gpå‘{bV H$a|Jo & [1½]

If you were appointed as a policy maker, then what elements will you include in the
National Youth Policy?

10) ñ‘mQ>© {gQ>r {‘eZ H$mo {H«$`mpÝdV H$aZo Ho$ {bE VrZ Cnm¶ gwPmB¶o & [1½]

Suggest three measures to execute Smart City Mission.

11) Ob Ho$ JwUm| Ho$ õmg na g§{jßV {Q>ßnUr {b{IE & [1½]

Write a short note on deterioration of water quality.

12) ^maV ‘| CnJ«h g§Mma H$s ŷ{‘H$m H$s g§{jßV {ddoMZm H$s{OE & [1½]

Briefly discuss the role of satellite communication in India.

13) H$mo¶bm joÌ VbMa H$m AmbmoMZmË‘H$ {dûcofU H$s{OE & [1½]

Critically analyze the Talcher coal field.

IÊS> - gIÊS> - gIÊS> - gIÊS> - gIÊS> - g

SECTION - C

XrK© CÎmar` àíZ -

Long Answer Type Questions -
14) OZg§»¶m {dVaU H$mo à^m{dV H$aZoo dmbo ^m¡Jmo{bH$ H$maH$m| H$m {díbofUmË‘H$ AÜ¶¶Z H$s{OE &

[1 + 1 + 1 = 3]

Make an analytical study of geographical factors affecting population distribution.
AWdm/OR

OZg§»¶m {dVaU H$mo à^m{dV H$aZo dmbo Am{W©H$ H$maH$m| H$m {díbofUmË‘H$ AÜ¶¶Z H$s{OE &

Make an analytical Study of economic factors affecting population distribution.
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15) JÝZm CËnmXZ Ho$ {bE Amdí¶H$ ^m¡Jmo{bH$ n[apñW¶m± Ed§ ^maV ‘| CËnmXZ joÌ ~VmBE & [1½ + 1½ = 3]
Explain the geographical conditions necessary for sugarcane production and the
production areas in India.

AWdm/OR
Mm¶ CËnmXZ Ho$ {bE Amdí¶H$ ^m¡Jmo{bH$ n[apñW¶m± Ed§ ^maV ‘| CËnmXH$ joÌ ~VmBE &
Explain the geographical conditions necessary for tea production and the production
areas in India.

16) B§{Xam Jm§Yr Zha H$‘mZ joÌ {dH$mg Ho$ VrZ Cnm` gwPmBE & [1 + 1 + 1 = 3]
Suggest three measure for the development of Indira Gandhi Canal command region.

AWdm/OR
gyIm g§̂ mdr joÌ {dH$mg Ho$ VrZ Cnm¶ gwPmBE &
Suggest three measures for the development of drought prone area.

IÊS> - XIÊS> - XIÊS> - XIÊS> - XIÊS> - X
SECTION - D

{Z~§YmË_H$ àíZ -
Essay Type Questions -
17) CÚmoJm| H$m AmH$ma {H$g na {Z ©̂a H$aVm h¡? AmH$ma Ho$ AmYma na CÚmoJm| H$mo dJuH¥$V H$aVo hþE CXmhaU g{hV

g‘PmBE &  [1 + 3 = 4]
What does the size of industries depend on? Explain with examples while classifying
industries on the basis of size.

AWdm/OR
Cƒ àm¡Úmo{JH$s CÚmoJ {H$go H$hVo h¢? Cƒ àm¡Úmo{JH$s CÚmoJ H$s g§H$ënZm H$mo g‘PmBE &
What is high technology industry? Explain the concept of high technology industry.

18) ^maV ‘| A «̂H$ g§gmYZmo na {dñV¥V {Q>ßnUr {b{IE & [4]
Write a detailed note on the mica resources of India.

AWdm/OR
^maV Ho$ ŷVmnr¶ COm© g§gmYZm| na {dñV¥V {Q>ßnUr {b{IE &
Write a detailed note on the geothermal energy resources of India.
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IÊS> - `IÊS> - `IÊS> - `IÊS> - `IÊS> - `

SECTION - E

19) {XE JE {díd Ho$ aoIm-_mZ{MÌ _| {ZåZ{b{IV g_wÐr nÎmZm| H$mo A§{H$V H$s{OE -
[½ + ½ + ½ + ½ = 2]

(A) ¶moH$mohm‘m (~) ‘ob~m°Z©

(g) b§XZ (X) AXZ

Mark the following sea ports on the given outline map of the world -

(A) Yokohama (B) Melbourn

(C) London (D) Aden

20) {XE JE ^maV Ho$ aoIm-_mZ{MÌ _| {ZåZ{b{IV ZXr ~o{gZmo H$mo A§{H$V H$s{OE -
[½ + ½ + ½ + ½ = 2]

(A) gwdU©aoIm ~o{gZ (~) noÝZma ~o{gZ

(g) Z‘©Xm ~o{gZ (X) gm~a‘Vr ~o{gZ

Mark the following river basins on the given outline map of India.

(A) Subarnarekha Basin (B) Pennar Basin

(C) Narmada Basin (D) Sabarmati Basin


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